Pﬂoe&.&ng !

SISTEMA. MRS MLt .

90¢ + (-90- 45430=90-3010°)F LN]
= 902‘-4.185-107 [N]

@ Mo = [300 -90(18)-45(2
Mo = - Q467107 & [nom] -
(Mg, = & +YPx(30C- 4. 8610 ]) = - 90~ 4:1Be10X ) K

SN G\Be 10X T - 946717 ; Y= 105184 16513y |

Ll
~z |

T X O

. “

: X
\2— T= )05.189-46.5(3 ¥
. 4-46 3,ZJ_

0

AR
|

\

) _.(';,qql.\d’)(z.323) -40 (3)] &

®




\P‘J1= ‘DOBD

\NLQ. \OO - ARE
wz_ - ﬁoo N\

® 2Mi=0 3

AB % We 4 P:(;wt_wt +ACx C

<+ FB 1-5 =D « @
o ban=(Z4, %)

50012).,& ajw. (CxC+ C2k)

4:]\* (—-BOOJI-\(? + (- 20+ 4:,\4- % k)= (-

Zz> @
’\L’:’;‘:) + L-47:+4j“+3£)g Dyl = O N
Ry (& 3200 - 2000 + BG)E + (1000 1 30x) § (- 8G~dlic Jk=0
{ 8Ce = 5200 , Cz = 65O N
J.  3Dx. 1000, Dx= 33333 N _
LD, Cx=—-166067N

6Cx=“4DX =) C}c'---«-'2 ‘
4
E~" EL UiNecuLsy C SON

[N]

sl ConsibeERaR. EL DCL

v
LAS REMCOINIES
P

O%Eﬁmcinlﬂ - NotE Que B \
DE AC a BD , DADo &VE EN B SXSIE UNA

NI &\'t:\'DAj APARECEUAN FUERAS (WTEUMAS |
DEScoOva paS I\JO £S5 NECESARIQ EuAaluaR,. RERRAS
. _ )
INTEQRG PARA HAIIAR REARCCINES &V VIMCuws

b 6T L+ 650K



